Solving (Polynomial) Equations

Pre/Calculus 11, Veritas Prep.

Solve each of the following equations for x. (What do I mean by “solve”? I mean, find all the values of z

such that the equation is true.)
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z=0
2z =4
3z =5
r—b=

dr — 20 = =7

. —z2=-10

. 32?2 =12

.32 =10

. —5x? = —30
=322 =11

. 2522 —4=0
422 —28=0

. =322 +8=-20
. =222 —11=5
L
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22 —8r+15=0
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42.

22 —5r=14

22 4+52+6=0

2 4+ =20
222+ 52 -3 =10

322 —2-2=0

422 4+ 92 +2=0

922 42 = 11z

3z +x =4

522 + 262 = —5
1222 + 132 =4

1822 =23z + 6

2?2 —yz+xz—xy=0
20 — 22 — 822 +16 =0
a® — 2b% +2a%b—ab =0
w?x — 2w? — 2uzrw + uw = 0
2?4+ 42%2 —8x —32=0
B —52"422-10=0
1223 + 922 +8r+6=0
1022y — 822 + 5y —4=0
322 +5x+11=0
pr?+qr+r=0
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61.
62.

22— 2x =12

22 —42—-30=0
2—r—1=0
22 4+3:-2=0
22 —4x+1=0
24+ 6x+7=0
224+ 6 =2
da? — 4o =7
4?2 —8x+1=0
522 + 8x = —2
22 +92+18=0
dr(x+1)=1
2202 = Tx + 15
22 +4x+13=0
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25z + £ = 20

VT2 +32+433=0
2> +rr+31=0
522 + 52 +5=0

10ax?® —40gax?” —byx?a’+
20029y = 0



